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(a) f (−6) = 7 − ∫ 𝑓
−2

−6
' (x) dx = 7 – (

1

2
) (4 · 2) = 3 

       f (5) = 7 + ∫ 𝑓
5

−2
' (x) dx = 7 − 

1

2
𝜋(2)2 + (

1

2
) (3 · 2) = 10 − 2𝜋                              2 :  {

1 ∶ 𝑓(−6) answer
 

1 ∶  𝑓(5)  answer 
 

(b) The graph of  f  is increasing on the intervals −6 < x < −2 and  

 2 < x < 5 because f ' is positive on these intervals.                                                2 :  {
1 ∶ two intervals        
1 ∶ justification          

 

(c) The absolute minimum value of f could occur when 𝑓′(x) = 0  

at x = 2 or at the endpoints 

  𝑓(−6) = 3                                                                                                          

  𝑓(2) = 𝑓(−2) + ∫ 𝑓′
2

−2
 (x) dx = 7 − 

1

2
𝜋 (2)2=7 − 2 𝜋                                       3 :  {

1: consider all possible candidates 
1 ∶ find and compare candidates     
1 ∶ answer with justification             

 

 𝑓(5) = 10 – 2 𝜋 

                  𝑓(2) < 𝑓(−6) < 𝑓(5) 

Therefore, the absolute minimum occurs at x=2 and 𝑓(2) = 7 −2 𝜋 

                                                                   

(d)  f''( −5) = slope at x=5 of 𝑓′= −
1

2
  

 f''(3) does not exist because the graph of f' is not differentiable                                2 ∶  {
1 ∶ 𝑓′′(−6)  answer                                

1: 𝑓′′(5) answer with justification    
 

at x = 3 because there is a corner. 


